(B85 FUZE2HECERICYDER]

MRIER - 518 EWN | RET R2 R3 MRIERE - 51F EW | R R2 R3 MRIER - 1818 BN | R R2 R3
s EES) - - - D—4 HEIXEZE | 28 - - - =g 2E _ — —
EO—2 (PR @ i oo ri |2 28] 50| 15 13]|® 03 @R 23 | 99.6 | 100 | RA10
% | HELSEKEOHEIZ [ Z=5 | 100 | 100 | R4 10| | 3 | —ERL:Y OB [(Z4m | — - — | | 2 mnsEROHIRGE [ 2240 | 100 | 100 | R4 10
B BmL. TOMRRES [ 7y | 100 | 100 | Ra. 10| | K EACORMZEBZ 2 | 7y | — — — B OAEHERELTNS [ mw | 100 | 100 | R4 10
D | EEBIWENISRB || 750 [ 775 | R 10| | B AOHE® @x | — | = | = ||% zeoma® &= 100 | 100 | Re 10
E | LTL2EROEIE® = £
e IR | 93.3 | 82.2 | RA.10 KR : H8 iR | — - — | | % s - Hoo IR | 95.7 | 100 | R4.10
- XA W9 A& | 100 | 100 | RA10| | xEimME - 0% BE| - | — | - ||®& xB5mE. 100% A7 | 100 | 100 | R4.10
% 3 B4Z{E : 100% 8 | 100 | 81.0 | RA.10 s | — - - 8 | 100 | 100 | R4.10
= M| 100 | 100 | R4.10 | - - - M| 100 | 100 | R4 10
: N[ 92.2 100 | RA10 | = - - N[ 100 | 100 | R4 10
g 2E5 | 100 | 100 | R4. 10 gy | - - - 2e5 | 100 | 100 | R4. 10
= | 100 | 100 | R4 10 =8| - - - =# | 100 | 100 | R4. 10
#4-v2| 83.7 | 81.6 | R4.10 A=y — — — #4-v2| 100 100 | R4.10
+5% | 83.3 ] 79.2 | RA.10 +H| - - - +#% | 100 | 100 | R4.10
Fgg | 100 | 100 | R4.10 | - - - SIg& | 100 | 100 | R4. 10
#B= | 100 | 100 | R4.10 BE | — - - 2= | 100 | 100 | R4.10
BHRAR - TR B | Rx | R | R BHRAR - TR &M | Rx | R | R BRAR - &R | Rx | R | RS
£H - - - e | - - - gk EES - - -
%@ @ (65| B BT |2 @ FER 2@ [ 979 999 doo| |20 @71 (hERD £ | 93.5 ] 94.3 | RA10
A e U = R I R | k-t o o e B B | - A A e I R
B B B = — — — % Bh . — — — I E. PG gk 3
D x5 LA, EHEH giﬁ — - - | |Ema® el T T D || % womcER e e 205 | 877 R 10
= RETHHEEME = (=) = £ 0BEW = : - :
B mEnExrbos | BRI - | - | - SR - HO Rl - | - | - ||x% fBiE | 81.4 | 85.5 | R4.10
< HEoTLREIA® B | — = = X E2{E : 100% BE | — - = || B s H28 B | 100 | 100 | R4.10
2 e | - - - S| - - - X BZ{E : 100% J8 | 98.8 | 100 | R4.10
MR : H29 | - - - w | - - - il | 85.0 | 98.2 | R4.10
s |XERE : 100% Bl = [ =1 = i = =1 = | 100 | 98.2 | Ra.10
g 28 | — _ _ A - - 2E | 100 | 100 | R4.10
=e| - - - =6 — - - =% | 100 100 | R4.10
AR-vo|  — = - Ah-vy|  — - - #4-v2| 92.6 | 86.3 | R4.10
5| - - - | — - - +8 | 89.7 | 93.0 | R&.10
e | — - - | — - - SIg& | 100 | 100 | R4.10
wE | — - - BE | — — - #= | 95.8 | 100 | R4.10
MRIERE - 518 EW | R R2 R3 MRIER - 51F EHN | R R2 R3 MRIER - 1818 EW | R R2 R3
Ehik 2E — — — =ik £ — — — Ehik 2E — — —
B -1 MR ST e 58] 14 |2 @72 @& 2@ 00| qo0| 00| |20 @72 FER)  ZETwms ke[ R0
i maommins o | on| — | _ | - |l 2hctocnzno |on| - | Z | - ||k E Snsuscon | onloal | mis
2 | AS60RERS Z . — — — V% BB . — — — I E. P gk 2
2 A0#HE® | — | = | = ||® w0 Be| | - | - ||E@oRcERUERE | G2 0| ws | o
= e s B | — = = || s . 1o iR | — - - §, oEE® ABIR | 86.7 | 93.3 | R4.10
X B1EfE : 0% BE | — - - X B 121E : 100% B& | — - - B KEAEE H28 H& | 100 | 100 | R4.10
S| — - - S| - - - X BZ{E : 100% B | 97.6 | 100 | R4.10
| - - - m| - - - Il | 90.0 | 90.0 | R4.10
| - - - | - - - | 100 | 96.7 | R4.10
2| — - - 2| — - - B | 100 | 100 | R4.10
=8| — - - =65 — - - =% | 100 100 | R4.10
Fh-vs|  — = - Ah-vy|  — - - #4-v2| 87.8 | 79.6 | R4.10
+B | — - - | — - - +8 | 91.7 | 85.4 | R&.10
e | — - - | - - - SIg& | 100 | 100 | R4. 10
wE | — - - BE | — — - #B= | 95.2 | 100 | R4.10
MRIEE - 518 EW | R R2 R3 MRIER - 51F EHN | R R2 R3 MRIER - 1818 &M | R R2 R3
b 2E — — — hk e — — — b 2H — — —
SD—2 (PR 2@ %68 110 65|20 D71 hER) 2@ [ 59| 975 [ Rado] [0 @71 (hER) 235 | 87.3 ] 98.0 | R4.10
B —ERS Y OB [ 2 | — - — || % BRKERUTLIE | 24 | 94.9 | 100 | RA.10| | % BmaLeEEL, R [ Z& | 71.2 | 100 | R4 10
B0 ERR 5% | gy | — — — B OEAERBLTLS | 75y | 100 | 100 | Ra. 10| | 4% |EEEOKRBRELZER | 535 | 87.5 | 100 | R4 10
& BnEE % e — — — Z FROEIE %) = 100 100 | Ra.10 = ﬁﬁlﬁ"éhofg‘éf‘?‘- %= | 73.7| 9.4 | R4 10
=S - S - £ RO, £ENE LTEE
SR« Ho8 iR | — - i BBIR | 100 | 100 | RA.10| | g ey ciemzaoc | BEEE | 71.4 | 91.3 | R4.10
XE1EME : 0% B | - - — || B xB4ZfE : 100% A& | 70.4 | 70.8 | R4.10| | & |\ Bk EE () B | 70.4 | 88.5| R4.10
ES | — - - B | 84.9| 100 | R4.10) 5 | 84.9| 100 | R4.10
| - - - Il | 85.0 | 90.0 | R4.10 SMEEEAE : H2O M| 80.0 | 100 | R4.10
| = - - | 93.4| 93.8 | R4.10 XE1RME : 100% | 98.1 | 98.2 | R4.10]
BE | - - - a5 | 82.4| 88.2 | RA10 2 | 76.5| 88.2 | R4.10)
=68 — - - =% | 100 100 | R4.10 =a| 100 100 | R4.10
rhovs| — - — #x-v5| 100 | 100 | R4.10 #x-vs| 100 | 100 | R4.10
+B| - - - +# | 100 | 100 | R4.10 +8 | 100 | 100 | R4.10
e | — - - gz | 100 | 100 | R4. 10 Qg% | 92.7 | 100 | R4 10
BE| — - - #B= | 100 | 100 | R4.10 2 | 75.0 | 95.8 | RA.10
MRIERE - 518 BN | RE R2 R3 MRIER - 51F EAN | R R2 R3 MRIER - 1818 EW | R R2 R3
= g £H - - — mhpk 2E — — — h 2E — — —
% 0-3 @& @ | 0] 16| 85| % P2 FER 2@ | 829 %m0 @72 (FER £38 | 86.2 | 91.8 | R4.10
F | —EMBY OB | Za - - — F BHNHERCHLIE | 250 100 100 | R4. 10| | 2 BRLLELBEHEL. B | =4 100 100 | R4.10
B REACORMEBASDE | gy | — — — B OBMAERBELTLD | 7| 100 100 | R4 10| | B |BEEEDEREZER | 5y | 74.4 | 100 | R4.10
& BnEE % P Z FROEIE %) p T EBEETOTVEE |,
= #E | — - - = | 100 100 | R4.10] = Lo % | 52.8| 50.0 | R4.10
= 2 = £ RO, EENE LTHEE
AL« Ho8 iR | — - — | & semses . noo BBIR | 33.3 | 100 | RA.10| | gy |sy i simmyass o | BB | 75.6 | 82.2 | R4.10
XEAZIE : 0% BE | — - — || B XB42ME : 100% B& | 73.8] 33.3| RAI0 | & L\208E %) B | 60.0| 66.7] R4.10
ES| — - - B | 70.0| 100 Ra.10 %5 | 83.3| 100 | R4.10)
|| - - - M| 96.7 | 80.0 | Ra.10 SMEEESE : H2O M| 70.0| 100 | R4.10
| = - - Nl | 100 | 83.6 | R4.10 X E1RAE : 100% )| 98.4] 96.7 | R4.10
B | — - - 25 | 100 | 90.9 | R4. 10 2 | 72.7 | 90.9 | R4.10
=6 — - - =% | 100 | 100 | R4.10 =#a| 100 | 100 | R4 10
rrovs| — - — #x-v5| 100 | 100 | R4.10 #x-vs| 100 | 100 | R4.10
5| - - - +# | 100 | 100 | R4.10 +8 | 100 | 100 | R4.10
e | — - - gz | 100 | 100 | R4.10 $IE% | 89.2 | 100 | RA.10
BE| — - - #B= | 100 | 100 | R4.10 1 | 71.4 ] 75.0 | RA.10

— 128 —




(BE5 FUZEILICERICYDER]

(B 6 FUZEEANTHIEHEDER]

MERIEE - 158 EHW | R R2 R3 MERIEE - 158 BN | Rx R2 R3 MERIER - 154E EW | Rt R2 R3
" 2E| - | - | - o 28| - | - | - 2@ - | - | -
%6l0-3 (@8 @ 972 o0 [ a0 |8 @73 @R 2@ 548 | ma o |2 © 23 | 32.2] 31.6 | 3.6
i %igg&%g;;ﬁﬁ Ze40 | 100 | 100 | R4.10 ;‘a;" ﬂﬂ?;lﬂi?%ﬂ{t} %@Kgi %51 [ 17.4 | 21.7 | R4.10 E ge)‘ “EIE:?SZCSEE& Ze4n | 29.3 | 31.0 | 34.7
B . = < X EEBEXRKE = 3 FEIZBNT, z
2 2RE0oTUAS (B0 | 00| oo | e 0| | B DERAELECE. |G | oo |y | eiol |2 [EROVERET B |Gl | 2T 0| 710
£ RO, EENBE HTEE £ B (B0 A & £ - T oREICRYMEL S &
B micsEREaoC | BRI .11 100 REI0) g | cipaman | B | 826 ) 018 | R0 T gz A g gl | BBIR | 353 ) 5.6 33.3
& LNBEREOES %) B& | 100 | 100 | R4 10| | % B | 71.4 | 71.4 | R&.10 B EEELES | B& | 28.6 | 286 | 34.7
B | 100 | 100 | R4.10 XA - HO WS | 65.0 | 73.7 | R4.10 () %S | 28.6 | 28.6 | 17.3
EHAELE : HO #W | 100 | 100 | R4.10 X E1EfE : 100% #1 | 100.0 |100.0 | Ra.10 ) #l | 22.5 | 24.5 | 31.0
XERME : 100% )| 100 | 100 | R4.10 )11 [100.0 {100.0 | R4.10 MAELE 28 )| 385 | 37.3| 349
2% | 83.3 | 100 | RA.10 25 | 66.7 | 80.0 | R4 10 HEIRIE : 50% 2 | 26.8 | 19.6 | 21.8
=a | 100 | 100 | R410 =e | 7.4 | 7.4 | Ra0 w=e | 314 29| 2456
##-vs| 80.8 | 100 | R4.10 #4-v5] 50.0 | 65.3 | R4.10 rh-vo| 32.5 | 27.8 | 31.7
+# | 100 | 100 | Ra.10 + | 28.6 | 10.0 | R4.10 +8 | 39.0 | 421 | 47.7
gigs | 100 | 100 | R4.10 I | 73.3 | 66.7 | R4.10 g | 32.1] 286 | 25.0
#B= | 100 | 100 | R4. 10 1= | 66.7 | 66.7 | R4.10 BE | 17.1] 31.4] 143
MERIEE - 158 W | R R2 R3 MESRIER - 154E BN | Rt R2 R3
% @—1 (hEmE 2=l — | — | = 21 @ £ H N e
23 | 93.3 | 100 | R4.10 23 | 59.8 | 57.3 | 51.3
i %gﬁ%ggg;ﬁ% Ze5n [ 100 | 100 | R4.10 % Ei&#%r:ﬁﬁif%ﬁé Ze40 | 56.7 | 48.3 | 57.9
" : Rl saT. :
U e R S iEemi EaofA [ o | e o
2 LERELTNDME [ : B D356, THISOHFFA [ : :
% HOBE %) B4R | 90.9 100 | R4.10 & RITORBEES Bk | 62.1 56.9 | 55.6
= B& | 100 | 100 | R4.10 S5¢ypEsL T, | BB | 61.8] 550 50.0
XEELE - H28 %S | 100 | 100 | R4.10 7. FELLEAG | BB | 57.4 | 51.7 | 44.4
X BARME : 100% #W | 100 | 100 | R4.10 F=ODEHBEZED | il | 53.9 | 56.8 | 67.9
)| 95.7 | 100 | R4.10 };ag‘él SERELTE [ )i1| 60.3 | 64.0 | 54.9
ZE | 100 | 100 | R4.10 = 28 | 53.5 | 57.1 | 50.0
=% | 100 | 100 | R4.10 SCHEE - H28 =% | 53.2| 63.8 | 66.7
#r-vs| 944 | 100 | R4.10 XEEME : 72.5% +x-vs| 47.9 | 53.3 | 64.4
+#% | 89.5 | 100 | R4.10 +# | 68.0 | 63.1| 61.5
S | 75.0 | 100 | R4.10 8 | 68.4 | 66.7 | 61.9
8= | 80.0 | 100 | R4.10 1= | 60.9 | 56.5 | 44.4
MERIEE - 158 EHW | R R2 R3 MESRIER - 154E EHW | Rt R2 R3
96 @—2 (FosSLk | ZE | — - - 27 ® 2E | - - -
%) 258 | 80.9 | 100 | R4.10 238 (134,152 [107, 154 [69, 138
$ O ERSOHMRIHD [ 24 | 91.7 | 100 | RA10 £ BRALyY SOXHEHE | 225 [23.833 1,750 | 2,219
B EERGIOMERE | 5yp | 85.7 | 100 | R4.10 iE - ERHBEDRHE | myF (77,001 (92,714 [49,529
B PBTBREIOTT || 700 | 100 | R4 10 F A wa (1513 0] o0
2 LEEELTLAMEE 2ol D ' B 2l
% HOBE® fBf | 63.6 | 100 | R4.10 KR  HoB FAYE | 680 | 1,338 | 1,226
5 BE [ 100 100 | R4.10 XEAEME 1740004 | B&E | 132 12 0
NEELE - H28 %S | 100 | 100 | R4.10 B | 5,726 | 2,445 |3, 591
X BAR{E : 100% M| 100 | 100 | R4.10 | 764 | 112 o
N[ 95.7] 100 | R4.10 )1l | 8,416 | 2,184 [3,117
28 | 75.0 | 100 | R4.10 2| 66| 218 1712
=a | 100 | 100 | R410 m=e | 198 95| 249
#x-vs| 38.9 | 100 | R4.10 ##-v5| 3,475 |1,384 |3, 486
+# | 78.9 | 100 | R4.10 +5 (10,247 | 3,746 |4, 659
g | 75.0 | 100 | R4.10 S 1,005 | 889 | 529
8= | 80.0 | 100 | R4.10 BE | 106 | 207 | 210
MRIEE - 158 EHW | R R2 R3 MERIER - 154E EHW | Rt R2 R3
i 2@ - | - | - 2@ - | - | -
%610-1  UhEH) %38 | 52.0 | 57.2 | RA.10 %8\ 238 | 80.5 | 81.7] 7.0
i 5%%?;9%} %i@ﬁgi M | 6.8 13.8 | R4.10 i E;‘J;—*‘?%SIE:IEEZ?%E% 228 | 79.0 | 78.0 | 79.0
} REEBFEZERKE . = BT, o
M 8 onimiony o e e
£ EE EH50) Al xR — : p : B MLz ERnBY. & - : : :
# LcLprrona® | BE | 9.7 100 | R4.10 gt smltu i | B 7731 758 1 81.8
= A& | 63.0 | 61.5 | R4.10 TBmLt-&hizls | B | 69.4 | 939 755
NEELE  H29 %S | 73.3 | 75.0 | R4.10 M. SHkIESMLTH | 5 | 85.7 | 80.5 | 65.3
KB EME 1 100% L | 85.0 | 80.0 | R4.10 LN EEELERD | g1l | 73.5 | 93.9 | 81.0
)i | 62.3] 69.9 | R4.10 E L) | 820 85.1 | 82.2
ZE | 100 | 100 | R4.10 s ZE | 75.0 | 5.0 | 718.2
=% | 75.0 | 71.4 | R&.10 Q%ég ; 235/0 =% | 743 700 | 66.7
#r-vo| 24.7 | 36.3 | RA.10 rr-vo| 80.2 | 83.3 | 77.9
+8 | 21.8 | 24.4 | Ra10 +# | 91.0 | 85.7| 72.0
S | 709 | 75.9 | R4.10 B | 78.6 | 89.3 | 87.5
1= | 58.3 | 58.3 | R4.10 1= | 82.9 | 743 | 85.7
MERIEE - 158 EHW | Rt R2 R3 MESRIER - 154E EHW | R R2 R3
e 2@ - | - | - 2@ - | - | -
%610-2  (REH) £38 | 47.0 [ 50.6 | R4.10 %@ £38 | 86.6 | 87.7 | 81.2
i 5’@%;&95} %i@ﬁgi ZHM | 73] 00| R410 i ;ig%ﬁg#%ﬁ%;@:r 2240 | 83.3 | 87.5 | 83.3
d REZTHEFATZRIKEF = = |Tz1878 - 5718 HE =
AP R HAE AR I AT B EMEERCEE ew w0 w0 o
£ EE 55 Al xR B ELTLWATHETHOE
# LTunsensa s | MR | 88.9 | 956 | R410 = FEIR | 90.9 | 90.9 | 90.9
= B | 80.0 | 86.7 | R4.10 A& | 85.7| 85.7 | 85.7
XEELE  H29 B | 54.8 | 56.1 | R4.10 NEELE - H28 %S | 63.6 | 727 72.7
3 BAZ{E : 100% AL | 90.0 [ 70.0 | R4. 10 X BRME : 100% il 714 7.4 | 7.4
N[ 59.0 | 67.2 | Ra.10 )| 95.7 ] 95.7 | 95.7
28 | 100 | 100 | R4.10 Zg | 100 | 100 | 100
=e | 68.2 ] 59.1 | Ra.10 =o | 80.0 | 80.0 | 80.0
#r-vs| 18.4 | 26.5 | RA.10 #r-vs| 88.9 | 88.9 | 88.9
+8 | 123 ] 16.7 | Ra.10 +# | 84.2 | 84.2 | 842
B | 67.6 | 70.3 | R4.10 gigs | 100 | 100 | 100
8= | 57.2 | 60.0 | R4.10 8= | 60.0 | 60.0 | 60.0

— 129 —




(B 6 FUEEANTHEBHEDOER]

RERE - 5 BA| RE | R [ R

em| — | - | -

2 ® 4318 |816,926 |337,456 (434,335

= FRDBEIEMEESFD | 55 (279,988 |96, 766 116,582

il RESOCHTLRER | =@ (22,685 11,168 |16, 460

fé TEQHBEHA) | ps (57,132 [19,217 [67, 404

i st | o8 B (68,906 47,000 |33, 464

) > H#Z{E : 800, 000.A 535 (185,004 |73, 101 |93, 859

4i48(69, 469 |28, 363 |35, 319

SCE[71, 565 |35, 487 [37, 322

Jt 75 E[62, 087 |26, 354 |33, 925

MRIER - 818 &N | RE R2 R3

2H - - —

£ O £ | 337 | 341 | 343

X ERUILEENEET | =M 13 13 13

£ | B3EBt D% () b1 40 M M

< ik | 201 20| 22

& X EmE : 3414 iR 21 21| o

= A& | 13| 13| 13

& BB 72 72 72

) | 20| 20| 2

& I 7 8 8

i &% | 10| 10| 10

=8| 12| 12| 12

#n-vs| 25| 25| 25

i | 21 21 21

gigg | 17| 18| 18

BE| 15| 16| 16

zoMm| 2| 2| 2

MRIER - 818 &N | RE R2 R3

2H - - —

i &% | 805 — | —

13; :g:g%ﬁémﬂgﬁﬁ?g?@ 75| 68.4 | — —

G 8H~ 7 — —

o e
D |FEY HHERD S HIX = -

B LetEEA SR | R | 0.9 — | —

# EfELTWAmEHO | BS 100 | — —

& E&E® ES | 90.9 — —

v w1000 — | -

& RIS 129 | ea1| — | =

A XBiR(E : 710% a5 | 85.7 — —

=a| 50| — | -

Fk-vs| 83.3 — -

+h% | 88.2 — —

#IE% | 87.5 — —

wE| 100 — | -

— 130 —



